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1960 9217.7 10776.5 20.5 || 1982 | 158853.9 190611.5 87.8
1961 10818.7 12869.4 21.8 || 1983 | 167508.7 199587.8 89.7
1962 12413.7 14701.4 23.3 || 1984 | 176267.1 209451.9 92.0
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1976 | 94845.6 123540.9 65.3
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freq a;

smpl 1955 1997;
read(file=’cons99.txt’) year cons yd def;
rcons=cons/ (def/100) ;
ryd=yd/(def/100);

smpl 1955 1997;

olsq rcons c ryd;

smpl 1956 1997;

9: dcons=rcons-(1.-.5%@dw)*rcons(-1);
10: dyd=ryd-(1.-.5*%@dw)*ryd(-1);

11: olsq dcons c dyd;

12: smpl 1956 1997;

13: olsq rcons ryd rcons(-1);

14: dcons=rcons-(1.-.5%@dw)*rcons(-1);
15: dyd=ryd-(1.-.5%@dw)*ryd(-1);

16: smpl 1957 1997;

17: olsq dcons dyd dcons(-1);

18: end;
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